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Note: There are three sections of the paper, A, B & C: Carefully read the instructions for each saction and allempt

- accordingly. Attempt all questbna of section « (A) and relurn it {o the superinlendent within the given time
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Q.1 Wiite the correct option i e A B Cor D in the empty box provnded opposlte each part. .
1 The praﬂx Pico means a factor of @
- R10® B0 .(;10-12 1) 10° R
li. The rate of change of velocity Is caIEed . , St [Z] :
- A. Speed. ~ B, Distance C. Acceleratl_on "D Dlsplacement : R
k. The pull of gravity on an object is called ..... ORI ’ [E] .
. A Weight - B. Mass C. Density D, Momentum .
iv. One Newton per 1 meter square is equal to.. ves s sean s ' [Cl
A 1joule " B.1watt - C 1. pascal - D1 Newton L
v. The Siunitof torque-.......... o [E]
© AL Nm B No unit C.. Nm™ D Nm?
" vi. Thevalus q"g' at.the surface of MooM ....v.vwuveereisnnne : : [E]
A 9.8ms™ B.89ms* C.4,9ms™ D. 1.63ms™
vil.  Capacity of a body to do work is called ....vvvvveereerninns
A. Power B. Momentum C . Energy D. Watt
vill. The unit for pressure used In weather maps is . : @
© . A. Pascal B. Joule. C Candlla : D. Millibar '
ix. The day time temperature on Uranus Is s D
A. 216°C B. 0°C “c.100°C D.-216°C ,
x. lce at 0°C is more effective in cooling a substance thanwater at................i... .
A. 100°C B. —100°G C.0°C D. 1°Q )
xi. Heat conducts easily through .......... it i '
A Arr B. Water C. Metals D. CO; . '
xii. Value of thermal conductivity of sitver is ..............Jx 'm's™ ‘ D
A. 400 B. 430 C.105 D. 240 :
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Q.2 Answer any EIGHT parts. Each bart carries FOUR marks.
~i. Explain why door handles.are not put near hinges? !
il. Why the water does not fali out of a bucket when it is whirled in a vertical circla?
li. Why the efficlancy of an engine can not be 100%? _
v. Statekinetic motecular model of matter.
v.  Why gaps are left betwesn the roof girders and steel bndges?
vi. How heat losses a reduced in a thermos flask?:
- vii. Whatis zero error and zero correction of a screw gauge? Explam
vili. Define the following
- Speed, Acceleration, Astrophysics, Distance
ix. Detive a relation for tension in string when two bodies move vertigally.
x. Explain rectangular components of vector. Give example.
x.

Why area Is called a darived quantity? Explain briefly.
~ ASection “C”

Note: Aﬂempt any THREE questions. All question carry equal marks
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a. Derive S = Vit + 0 at’ by graphical method. _ .

b. What is the accaleration produced by a force of 20N exerted on an abject of mass 4500gm?

a. Explain conduction of heat. Describe its any two applications.

Marka: 32

b. How much heat is required to increase the temperature of 2.5kg of water from 20°Cto 50°C?

{Specific heat capacity of water is 4200J/Kg k)
a. Derive the formula for the orbital speed of an artificial satellite.

b. A car of mass 950kg accelerates uniformly from rest to 20 m/sec in 15 sec. What is its power?

a. State and explain Archimede’s principle?
b. A beaker confains 300ml of water. What is volume of waterin cms?'(1 litre = 1000 cm"’)‘
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